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A.2x - 3=0 B. x% - 2y=0 C.3 D. x2=0
2. Bk

FHIEC=4EN )
A x=2 B.x=-2 C.x1=4, xp=-4 D.x1=2, xp=-2
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A. y=—(x-2)"+3 B. y=—(x-2) -3 C. va-{x%2) +3 D, v=—(x+2) -3
4. HBIEH — A=

— LRI - 6x - 1=0B T JE AR AN )

A. (x3) =8 B. (x3)'=10 CN(3y3)' =8 D (x%3)" =10

5. Bk RR -

— B IRHFEX? - 4x - A=0RTRB B A6 )
A. BN E B ZEOR B. I P HE L HR C. B—/EHR D. %A LH
i

6. Bk R
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A YI<y2=y3 B. yg=y1<y2 C.y3<y1<y2 D. y1=y2<<y3
7. B RS

WLy= (x-3) 22MR/MER )

A -2 B.2 C. -3 D.3

8. FAI%

FEF R EIZE R HIRFEN, BN BS560THEN31ST, CHMBERENKESFMHE,
REBRENHE SR, BERENTHES RN, THAFIRGEFERRZ )

A. 560(1+x)2=315 B. 560(1—x)*=315 C. 560(1—2x)2=315 D. 560(1—x?)=
315

9. B -



